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26_(: Consider o fuackion ‘G(X.‘\\ of two vakables

(1) Itrs level curve (or contour curve) or Kk

the curve on the xy-plant guen by tuuy) =K,
€.9. The cirde xq"c‘-\z =\ T the level curve ot
fuy) = e ot |\
The fme 2r+9 = 3 75 +he level cCarve of

Loy = 2149 ok 3.

(2) T4s Combour wap T a collection of level cuvves.

Nove The level curve of k T +the Cvose Seckion ol
Ahve  gragh 2=fu) toe 2=k,

E e o {:uv\c’ﬂow ‘Gu.\\\%\ ol 4hvee varalbleg,
s \evel suckace o k & we Sucknce n R’

given by Ly =k

€9. The sphere x'*i-‘f-(- =24 s the level sucface
of €aq)= sy +¥ ot 4.
The plane ®¥24¥3%2 =6 T the level surface
f Cuqa) = xs2443% ok 6.



Ei Pr eadt  Cuaction, draw o contour wop wit
G \eve\ cuvrves .

1) Q& = | 16=1bx"- 4"
& F?m\ “+he dowotn .

lb_lbyf“ %L 20 ~) lbx"{. jq’ ‘_‘,6 P TV\S-(AQ awn Q“-(“)St

\[& “t 2 2 2%+ o
(E*F:\ or Qx+\p~3 =& defines cm)

E“'(?S'e CQV\‘\'EV‘EA ot +the oﬁs?w
The \evel cuwe at K T sTuen b-s ‘Suﬂ.t\)‘=k,

T g case, oW \eve\s ave V\owmesq\-‘we )

((9ety = J to-lox*~~ 20 )

k=0 : &—lb—lex‘-v\‘ =0 ~ le—u,x‘-«f =0
~A ‘6%‘-&-\{' = (6 -~ an e\\‘(?s&

X=0 3 Y=14, 4=o 3 K=\ .

K={ - \\lb-l@x“-uf' =\ ~ l()‘lbx"—sf’:\



k=25 J1b-tox=yq* =2~ b lbx=y" =4
) [61”-\- {'—_ 12 - aw e\\?\ne

X=0 = 3=iﬁ. Y=o 3 s(=iE

=3+ flomtormg =3 = b= =9
~ 1bX+y" = T : an ellcpse

X=0 4= tﬁ.. Y=o = X=iE.

k=4 [ lo-loxt=o® =4 ~ (b= lox’=y"= 1b

~) Hﬂf:‘.\{';o oA *:kl‘-o DN ?o?v\’r,

Note The (ontour map Shows +the pwojection of
+he %m‘)\v\ -2-:3(&&\) .
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S_O_\_ Famd +he dowmon .
XL-&-“\; +0 ~ ol poimts excepr (0.0)

(2) Wt ‘\) =

'W\e \Q\le\ cuvve at \4 (S 3?\1@/\ \0\3 \“Lx\\pzk_

49
keo s —>— =0
% %Y
~ 4=0 : e Y-oxlis  except (0,0)
49
el s ——— = |~ X% 49
"ESY

o~ x°'+‘31—4~3 =0~ XF W-4YTa=4

2 \ .
k=2 : ;f‘j = ;[ ~ Xlﬁ"s = 2Y)
%+ Y
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kﬂ_-l : %(3 = —/z ) —L‘Li-\"\i) = 2“3

X Y*

A E Y E2Y = 0 Xk 29+ =\

~ X (‘3-\-\)2= | + a drde

Note Two level curves ot  diffevent \evels
Comnot Cvoss each other.
KI(- ey do, then 4he Tntersection Qo‘wr%
should  have two Jddferent Lunciion xm\ues)



